
20.1 ÷ 0.001 = 363.9 ÷ 0.001 = 1.521 ÷ 1000 =

2.15 ÷ 100 = 2.028 ÷ 10 = 5.6 ÷ 0.001 =

0.035 ÷ 1000 = 0.002 ÷ 0.1 = 33.8 ÷ 100 =

5.88 ÷ 100 = 6.608 ÷ 1000 = 0.1 ÷ 0.01 =

0.07 ÷ 100 = 0.707 ÷ 0.01 = 0.8 ÷ 1 =

0.005 ÷ 100 = 3.5 ÷ 10 = 0.01 ÷ 10 =

96.51 ÷ 1000 = 0.046 ÷ 0.1 = 0.08 ÷ 0.1 =

0.186 ÷ 1 = 76.8 ÷ 1 = 2.6 ÷ 0.1 =

4.3 ÷ 100 = 36.31 ÷ 1 = 0.82 ÷ 1000 =

0.001 ÷ 0.01 = 0.64 ÷ 0.1 = 52.05 ÷ 0.1 =

7.8 ÷ 1000 = 0.03 ÷ 100 = 44.51 ÷ 1 =

96.7 ÷ 0.001 = 0.7 ÷ 0.1 = 0.058 ÷ 0.01 =

0.1 ÷ 0.1 = 3.946 ÷ 0.01 = 1.23 ÷ 0.001 =

2.359 ÷ 0.01 = 93.2 ÷ 0.001 = 0.9 ÷ 1000 =

0.05 ÷ 0.01 = 1 ÷ 0.001 = 84 ÷ 0.1 =
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20.1 ÷ 0.001 = 20100 363.9 ÷ 0.001 = 363900 1.521 ÷ 1000 = 0.001521

2.15 ÷ 100 = 0.0215 2.028 ÷ 10 = 0.2028 5.6 ÷ 0.001 = 5600

0.035 ÷ 1000 = 0.000035 0.002 ÷ 0.1 = 0.02 33.8 ÷ 100 = 0.338

5.88 ÷ 100 = 0.0588 6.608 ÷ 1000 = 0.006608 0.1 ÷ 0.01 = 10

0.07 ÷ 100 = 0.0007 0.707 ÷ 0.01 = 70.7 0.8 ÷ 1 = 0.8

0.005 ÷ 100 = 0.00005 3.5 ÷ 10 = 0.35 0.01 ÷ 10 = 0.001

96.51 ÷ 1000 = 0.09651 0.046 ÷ 0.1 = 0.46 0.08 ÷ 0.1 = 0.8

0.186 ÷ 1 = 0.186 76.8 ÷ 1 = 76.8 2.6 ÷ 0.1 = 26

4.3 ÷ 100 = 0.043 36.31 ÷ 1 = 36.31 0.82 ÷ 1000 = 0.00082

0.001 ÷ 0.01 = 0.1 0.64 ÷ 0.1 = 6.4 52.05 ÷ 0.1 = 520.5

7.8 ÷ 1000 = 0.0078 0.03 ÷ 100 = 0.0003 44.51 ÷ 1 = 44.51

96.7 ÷ 0.001 = 96700 0.7 ÷ 0.1 = 7 0.058 ÷ 0.01 = 5.8

0.1 ÷ 0.1 = 1 3.946 ÷ 0.01 = 394.6 1.23 ÷ 0.001 = 1230

2.359 ÷ 0.01 = 235.9 93.2 ÷ 0.001 = 93200 0.9 ÷ 1000 = 0.0009

0.05 ÷ 0.01 = 5 1 ÷ 0.001 = 1000 84 ÷ 0.1 = 840

Dividing Decimals by Powers of Ten Answers

www.intermathschool.com


